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PART A: Grammar and Vocabulary

Directions: Questions 46-50 are incomplete sentences. Beneath each sentence you will see four words

or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the
sentence. Then mark your answer sheet.

46-

47-

48-

49-

50-

A: “I don’t know how ..

....... people are likely to come to the meeting.”

B: “I’m sure some won’t be able to make it. ............ have already sent their apologies.”
2)alotof / A few

1) many / A few

Scientists have found a way to put

out.

1) a piece of information
3) lots of informations

Many people believe that regular exercise clears their minds, helps them ............ , and gives their
subconscious mind opportunity to think through problems.

1) make up 2) turn off 3) calm down 4) take off

George Allen once observed that each of us has been put on earth with the ............ to do something
well.

1) point 2) ability 3) measure 4) pattern

Our family doctor doesn’t like to put our kids on antibiotics when they get sick unless it’s

necessary.
1) hardly

2) recently

oooooooooooo

3) alot of / Some

4) many / A lot of

into your brain without your knowledge and then take it

2) some informations
4) a slice information

3) commonly

4) absolutely
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PART B: Cloze Test :
Directions: Questions 51-55 are related to the following passage. Read the passage and decide which

choice, (1), (2), (3), or(4), best fits each space. Then mark your answer sheet.

New Zealand has a warm, moist climate which is ideal for many types of farming. Sheep and cattle .

ranching are the biggest businesses. There are two cattle and 13 sheep for every ...51... in New Zealand.
The country exports ...52... dairy products and lamb than any other ...53... and is the second largest
exporter of wool. Over the past 15 years, production of other crops, ...54... kiwi fruit, oranges, and lemons,
has increased. Newly built ...55... have helped New Zealand’s fleet increase its catch, and today the country
is a major seafood exporter. ‘

51- 1) animal 2) member 3) human 4) region
52- 1) most 2) so 3) more 4) as

53- 1) nation 2) range 3) number 4) town
54- 1) such as 2) beside 3) instead 4) despite
55- 1) boats fishing 2) fishing of boats 3) fishing boats 4) fish boat

PART C: Reading Comprehension

Directions: In this part of the test, you will read a passage. The passage is followed by five questions.
Answer the questions by choosing the best choice, (1), (2), (3), or (4). Then mark your answer sheet.

Advertising gives useful information about which products to buy. But modern advertising does more
than giving news about products and services. Today’s advertisements, or ads, try to get consumers to buy
certain brands. Writers of advertising are so skillful that they can sometimes persuade a consumer to wear
a certain kind of clothing, eat a special kind of cereal, or see a movie. Consumers might never even want a
product if they did not see or hear advertisements for it.

For example, you probably do not need the newest cereal in the supermarket. There are probably many
cereal brands on your Kitchen shelves. You may not have space on your shelf for another. But if you see ads
about a new cereal that is extra-tasty and has a free prize in the box, you may want it. Advertising must get
attention. To be effective, it must be exciting, entertaining, or provide some pleasure. The secret of writing
good advertising copy is to offer a good idea as well as a product. The idea is what the ad is really selling.
One example is an ad that says eating a certain cereal will make a person do well in sports. That cereal
brand may sell better if consumers think it offers strength and energy.

56- What is discussed in this passage?

1) the content of modern advertising

2) the effectiveness of ads throughout the time
3) modem techniques of selling cereal

4) how to be a successful writer of ads

57- According to the passage, a good advertisement should ............ .

1) be both persuasive and effective 2) only give people useful information

3) show people a product 4) just show people a new idea of a product
58- The underlined word “it” in the second paragraph refers to ............ .

1) advertising 2) cereal 3) prize 4) box
'59- From the passage, we can infer that ............ .

1) modern advertising has less effect on customers
2) once customers see ads about a new cereal, they are sure to buy it
3) cereal can make people strong
4) cereal is a kind of food which is probably popular among people
60- What can we infer from the passage?
1) Customers can easily be persuaded by advertisements.
2) Customers buy products according to their demands rather than the advertisements.
3) It’s impossible for customers to buy a product without advertisements.
4) Effective advertisements can persuade people to buy products.
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